Sage OO OO0
Ooooo 8.0

The Sage Group

70 23,2017






HRN

010 000oooog Sage
020 Sage00OOO0OODOO

030 SageJ000O0OO0DOODODOODOO






Sage000J0O0O,0000 8.0

0000 O MathematicaDOOODOOOO MathematicaOOOOOOOOSageO0OOOOOODO







010

000000 Sage

Sage 00000000 DO0O0OO0O00O0O sage: O0000O000O00O0O0O000O0O0Sage000O0O0O0OOOOO
00000 sage: DOO0OO0OO0OO0OO0DOOO0ODO shift-enter000000O00O0O0O0OOOO

sage: 3 + 5
8
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sage: 57.1 ~ 100
4.60904368661396e175

Sage 2x2000000000000000

sage: matrix([[1,2], [3,4]])"(-1)
[ -2 1]
[ 3/2 -1/2]
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sage: x = var('x") # 0000000

sage: integrate (sqgrt (x)*sqgrt(l+x), x)

1/4%((x + 1)7(3/2)/x"(3/2) + sqgrt(x + 1)/sqrt(x))/((x + 1)72/x"2 — 2% (x + 1)/x + 1) -
—1/8+xlog(sqgrt(x + 1)/sqrt(x) + 1) + 1/8xlog(sgrt(x + 1)/sqgrt(x) - 1)
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sage: a = var('a'")
sage: S = solve(x"2 + x == a, x); S
[x == -1/2%sqgrt(4a + 1) - 1/2, x == 1/2+sqrt(d*a + 1) - 1/2]
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sage:

-1/2%sqgrt (4«a + 1)

S[0].rhs ()

- 1/2
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sage:

show (plot (sin (x)

+ sin(1l.6%x),

0,

40))
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sage: m = random_matrix (RDF,500)
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sage: e = m.eigenvalues () # 0O 20

sage: w [ (1, abs(e[i])) for i in range(len(e))]

sage: show (points(w))
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sage: factorial (100)
9332621544394415268169923885626670049071596826438162146859296389521759999322991560894146
sage: n = factorial (1000000) # 2.5000000
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sage: N(pi, digits=100)
3.

—~14159265358979323846264338327950288419716939937510582097494459230781640628620899862803
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sage: R.<x,y> = QQI[]
sage: F = factor(x"99 + y*99)

sage: F
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397615651828¢

482534211706¢
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(x +y) * (x"2 = xxy + y®2) x (x76 - x"3xy"3 + y"6) «
(x710 = x"9xy + x"8xy"2 — x"T*xy"3 + x"6xy"4 — x"5xy"5 +
XMxy”t6 — x"3xy"T7 + x"2%y"8 - xxy"9 + y*10) «

(x720 + x719%y — x*17xy"3 — x716xy™4 + x"14xy"6 + x"13xy"™7 —
xM114y"9 — x710%xy*10 — x"9xy"11l + x"T7xy"13 + x"N6xyt1l4 -

XM xy~1l6 — x"3xy"17 4+ xxy*19 + y*20) x (x760 + x"57xy"3 -
XM514y"9 — xM48xyt12 + xM42xy™18 4+ x"M39xy”"21 - xN33xy"27 —
x"30xy"30 — x"27xy"33 + x"21%y"39 + x"18xyt42 - x"12+xyt48 -
x"9%y"51 + x"3%y"57 + y*60)

sage: F.expand()

x"99 + y*99
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sage: z = Partitions(1078).cardinality() # 0O 4.50
sage: str(z) [:40]
'1760517045946249141360373894679135204009"







030

Sage 000000000 ODOOOO

Sage 00 0O0OO0O0OO0O0O0ODOOOOOOOOOOOOOOOOOOOOOOOOOOODOOOOOOOODODOO
ooo



	電卓としてのSage
	Sageで力まかせに計算
	Sageにおけるアルゴリズム群の利用

